

Engineer's Estimate

A Lamp Concrete Contractors, Ind Schroeder Asphalt Services, Inc.

1900 Wright Boulevard
Schaumburg, IL 60193
Phone (847) 891-6000
Phone (847) 891-6000
Phone (815) 923-4380
Phone (630) 628-6208
Phone (630) 953-1500

2 25 10 11						Phone	(847) 891-6000		(815) 923-4380		(630) 628-6208		(630) 953-1500
OUIDAN VI	50-1			UNIT	TOTAL	Fax UNIT	(847) 891-6100 TOTAL	Fax UNIT	N/A <b>TOTAL</b>	Fax UNIT	N/A <b>TOTAL</b>	Fax UNIT	(630) 932-0994 TOTAL
ITEM NO.	DESCRIPTION	UNITS	QUANTITY	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
1	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	63.00	\$35.00	\$2,205.00	\$18.70	\$1,178.10	\$22.00	\$1,386.00	\$22.00	\$1,386.00	\$17.00	\$1,071.00
2	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	158.00	\$45.00	\$7,110.00	\$20.90	\$3,302.20	\$28.00	\$4,424.00	\$28.00	\$4,424.00	\$19.00	\$3,002.00
3	TEMPORARY FENCE	FOOT	1,600.00	\$5.00	\$8,000.00	\$1.00	\$1,600.00	\$6.00	\$9,600.00	\$2.50	\$4,000.00	\$2.95	\$4,720.00
4	TREE ROOT PRUNING	EACH	41.00	\$65.00	\$2,665.00	\$15.00	\$615.00	\$75.00	\$3,075.00	\$75.00	\$3,075.00	\$100.00	\$4,100.00
5	TREE PRUNING (1 TO 10 INCH DIAMETER)	EACH	15.00	\$55.00	\$825.00	\$55.00	\$825.00	\$70.00	\$1,050.00	\$70.00	\$1,050.00	\$50.00	\$750.00
6	TREE PRUNING (OVER 10 INCH DIAMETER)	EACH	41.00	\$130.00	\$5,330.00	\$88.00	\$3,608.00	\$85.00	\$3,485.00	\$90.00	\$3,690.00	\$80.00	\$3,280.00
7	EARTH EXCAVATION	CU YD	1,479.00	\$40.00	\$59,160.00	\$41.50	\$61,378.50	\$29.00	\$42,891.00	\$40.00	\$59,160.00	\$45.92	\$67,915.68
8	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	2,169.00	\$30.00	\$65,070.00	\$15.00	\$32,535.00	\$31.00	\$67,239.00	\$20.00	\$43,380.00	\$54.57	\$118,362.33
9	TRENCH BACKFILL	CU YD	38.00	\$45.00	\$1,710.00	\$50.00	\$1,900.00	\$140.75	\$5,348.50	\$55.00	\$2,090.00	\$140.75	\$5,348.50
10	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	6,580.00	\$2.00	\$13,160.00	\$1.00	\$6,580.00	\$1.00	\$6,580.00	\$1.00	\$6,580.00	\$1.41	\$9,277.80
11	SUPPLEMENTAL WATERING	UNIT	30.00	\$50.00	\$1,500.00	\$1.00	\$30.00	\$100.00	\$3,000.00	\$0.01	\$0.30	\$0.01	\$0.30
12	INLET FILTERS	EACH	36.00	\$200.00	\$7,200.00	\$15.00	\$540.00	\$105.00	\$3,780.00	\$100.00	\$3,600.00	\$150.00	\$5,400.00
13	AGGREGATE SUBGRADE IMPROVEMENT	CU YD	960.00	\$30.00	\$28,800.00	\$15.00	\$14,400.00	\$50.00	\$48,000.00	\$30.00	\$28,800.00	\$41.82	\$40,147.20
14	AGGREGATE SUBGRADE IMPROVEMENT 12"	SQ YD	2,167.00	\$18.00	\$39,006.00	\$11.25	\$24,378.75	\$13.95	\$30,229.65	\$9.20	\$19,936.40	\$14.78	\$32,028.26
15	AGGREGATE BASE COURSE, TYPE B	CU YD	182.00	\$25.00	\$4,550.00	\$30.00	\$5,460.00	\$50.00	\$9,100.00	\$30.00	\$5,460.00	\$52.52	\$9,558.64
16	AGGREGATE BASE COURSE, TYPE B 6"	SQ YD	5,746.00	\$8.00	\$45,968.00	\$6.20	\$35,625.20	\$7.90	\$45,393.40	\$7.78	\$44,703.88	\$8.61	\$49,473.06
17	BITUMINOUS MATERIALS (TACK COAT)	POUND	7,614.00	\$1.00	\$7,614.00	\$0.01	\$76.14	\$0.01	\$76.14	\$0.01	\$76.14	\$0.65	\$4,949.10
18	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	TON	394.00	\$105.00	\$41,370.00	\$99.00	\$39,006.00	\$95.00	\$37,430.00	\$126.00	\$49,644.00	\$99.12	\$39,053.28
19	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	SQ YD	346.00	\$15.00	\$5,190.00	\$10.00	\$3,460.00	\$6.00	\$2,076.00	\$5.60	\$1,937.60	\$14.91	\$5,158.86
20	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	795.00	\$80.00	\$63,600.00	\$76.00	\$60,420.00	\$76.50	\$60,817.50	\$79.00	\$62,805.00	\$77.61	\$61,699.95
21	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	TON	1,484.00	\$90.00	\$133,560.00	\$82.00	\$121,688.00	\$80.00	\$118,720.00	\$83.00	\$123,172.00	\$76.29	\$113,214.36
22	PORTLAND CEMENT CONCRETE PAVEMENT 8" (JOINTED)	SQ YD	2,205.00	\$75.00	\$165,375.00	\$68.00	\$149,940.00	\$59.00	\$130,095.00	\$59.85	\$131,969.25	\$52.00	\$114,660.00
23	PROTECTIVE COAT	SQ YD	5,462.00	\$2.00	\$10,924.00	\$1.00	\$5,462.00	\$1.00	\$5,462.00	\$0.01	\$54.62	\$0.01	\$54.62
24	DETECTABLE WARNINGS	SQ FT	679.00	\$35.00	\$23,765.00	\$25.00	\$16,975.00	\$25.00	\$16,975.00	\$23.00	\$15,617.00	\$26.50	\$17,993.50
25	PAVEMENT REMOVAL	SQ YD	5,095.00	\$15.00	\$76,425.00	\$19.65	\$100,116.75	\$10.50	\$53,497.50	\$13.00	\$66,235.00	\$9.64	\$49,115.80
26	DRIVEWAY PAVEMENT REMOVAL	SQ YD	1,595.00	\$20.00	\$31,900.00	\$9.60	\$15,312.00	\$10.00	\$15,950.00	\$13.00	\$20,735.00	\$18.06	\$28,805.70
27	COMBINATION CURB AND GUTTER REMOVAL	FOOT	2,640.00	\$8.00	\$21,120.00	\$4.75	\$12,540.00	\$5.00	\$13,200.00	\$4.80	\$12,672.00	\$5.04	\$13,305.60
28	SIDEWALK REMOVAL	SQ FT	16,162.00	\$2.00	\$32,324.00	\$1.00	\$16,162.00	\$1.40	\$22,626.80	\$1.15	\$18,586.30	\$1.73	\$27,960.26
29	CLASS C PATCHES, 6 INCH	SQ YD	1,569.00	\$75.00	\$117,675.00	\$50.00	\$78,450.00	\$50.00	\$78,450.00	\$47.00	\$73,743.00	\$69.09	\$108,402.21
30	CLASS D PATCHES, 6 INCH	SQ YD	36.00	\$60.00	\$2,160.00	\$50.00	\$1,800.00	\$50.00	\$1,800.00	\$330.00	\$11,880.00	\$66.79	\$2,404.44
31	STORM SEWERS, CLASS A, 12"	FOOT	30.00	\$90.00	\$2,700.00	\$95.00	\$2,850.00	\$43.25	\$1,297.50	\$150.00	\$4,500.00	\$43.25	\$1,297.50
32	STORM SEWERS, RUBBER GASKET, CLASS A, 12"	FOOT	91.00	\$100.00	\$9,100.00	\$95.00	\$8,645.00	\$129.25	\$11,761.75	\$155.00	\$14,105.00	\$129.25	\$11,761.75
33	STORM SEWERS, CLASS B, 8"	FOOT	16.00	\$80.00	\$1,280.00	\$75.00	\$1,200.00	\$91.75	\$1,468.00	\$125.00	\$2,000.00	\$91.75	\$1,468.00
34	WATER VALVES 6"	EACH	1.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$4,943.35	\$4,943.35	\$6,500.00	\$6,500.00	\$4,943.35	\$4,943.35
35	FIRE HYDRANTS TO BE REMOVED	EACH	2.00	\$1,000.00	\$2,000.00	\$750.00	\$1,500.00	\$2,796.00	\$5,592.00	\$500.00	\$1,000.00	\$2,796.00	\$5,592.00
36	FIRE HYDRANT WITH AUXILIARY VALVE AND VALVE BOX	EACH	2.00	\$6,000.00	\$12,000.00	\$7,000.00	\$14,000.00	\$8,497.00	\$16,994.00	\$9,000.00	\$18,000.00	\$8,497.00	\$16,994.00
37	CATCH BASINS, TYPE A, 4'-DIAMETER	EACH	7.00	\$4,000.00	\$28,000.00	\$4,200.00	\$29,400.00	\$4,563.00	\$31,941.00	\$8,500.00	\$59,500.00	\$4,563.00	\$31,941.00
38	CATCH BASINS, TYPE C	EACH	6.00	\$2,000.00	\$12,000.00	\$2,200.00	\$13,200.00	\$1,820.00	\$10,920.00	\$2,200.00	\$13,200.00	\$1,820.00	\$10,920.00
39	MANHOLES, TYPE A, 4'-DIAMETER	EACH	2.00	\$4,000.00	\$8,000.00	\$4,000.00	\$8,000.00	\$9,948.00	\$19,896.00	\$7,500.00	\$15,000.00	\$9,948.00	\$19,896.00
40	INLETS, TYPE A	EACH	4.00	\$2,000.00	\$8,000.00	\$1,800.00	\$7,200.00	\$1,574.00	\$6,296.00	\$2,000.00	\$8,000.00	\$1,574.00	\$6,296.00
41	VALVE VAULTS, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	1.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$2,698.00	\$2,698.00	\$3,500.00	\$3,500.00	\$2,698.00	\$2,698.00



Engineer's Estimate

A Lamp Concrete Contractors, Ind. Schroeder Asphalt Services, Inc. G&M Cement Construction
1900 Wright Boulevard
P.O. Box 831
Schaumburg, IL 60193
Huntley, IL
Addison, IL 60101
Addison, IL 60101
Phone (847) 891-6000 Phone (815) 923-4380 Phone (630) 628-6208 Phone (630) 953-151

THE GARDEN VI						Phone Fax	(847) 891-6000 (847) 891-6100		(815) 923-4380 N/A	Phone Fax	(630) 628-6208 N/A	Phone Fax	(630) 953-1500 (630) 932-0994
ITEM NO.	DESCRIPTION	UNITS	QUANTITY	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
43	FRAMES AND GRATES, TYPE 11	EACH	26.00	PRICE \$550.00	\$14,300.00	\$495.00	PRICE \$12,870.00	PRICE \$475.00	\$12,350.00	PRICE \$475.00	PRICE \$12,350.00	PRICE \$475.00	PRICE \$12,350.00
43	FRAMES AND LIDS, TYPE 11	EACH	11.00	\$500.00	\$5,500.00	\$350.00	\$3,850.00	\$297.00	\$3,267.00	\$350.00	\$12,350.00	\$475.00	\$12,350.00
45	NON-SPECIAL WASTE DISPOSAL	CU YD	510.00	\$80.00	\$40,800.00	\$50.00	\$25,500.00	\$100.00	\$51,000.00	\$60.00	\$3,630.00	\$83.41	\$42,539.10
46	SIGN PANEL - TYPE 1	SQ FT	36.00	\$30.00	\$1,080.00	\$25.00	\$900.00	\$16.50	\$594.00	\$25.00	\$900.00	\$17.50	\$630.00
47	REMOVE SIGN PANEL ASSEMBLY - TYPE A	EACH	5.00	\$200.00	\$1,000.00	\$100.00	\$500.00	\$35.00	\$175.00	\$25.00	\$375.00	\$65.00	\$325.00
48	RELOCATE SIGN PANEL ASSEMBLY - TYPE A	EACH	2.00	\$200.00	\$400.00	\$200.00	\$400.00	\$310.00	\$620.00	\$250.00	\$500.00	\$250.00	\$500.00
49	TELESCOPING STEEL SIGN SUPPORT	FOOT	192.00	\$200.00	\$3,840.00	\$200.00	\$2,880.00	\$11.00	\$2,112.00	\$15.00	\$2,880.00	\$250.00	\$2,976.00
50	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	156.00	\$6.00	\$936.00	\$4.90	\$764.40	\$5.00	\$780.00	\$4.45	\$694.20	\$5.00	\$780.00
51	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND STMBOLS  THERMOPLASTIC PAVEMENT MARKING - LINE 4"	FOOT	4,855.00	\$2.00	\$9,710.00	\$1.10	\$5,340.50	\$0.82	\$3,981.10	\$0.98	\$4,757.90	\$0.82	\$3,981.10
52	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	FOOT	30.00	\$6.00	\$180.00	\$1.60	\$48.00	\$1.50	\$45.00	\$1.45	\$43.50	\$1.50	\$45.00
53	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	FOOT	204.00	\$8.00	\$1,632.00	\$3.20	\$652.80	\$2.50	\$510.00	\$2.90	\$591.60	\$2.50	\$510.00
54	THERMOPLASTIC PAVEMENT MARKING - LINE 12 THERMOPLASTIC PAVEMENT MARKING - LINE 24*	FOOT	290.00	\$12.00	\$3,480.00	\$4.90	\$1,421.00	\$5.00	\$1,450.00	\$4.45	\$1,290.50	\$5.00	\$1,450.00
55	PAINT PAVEMENT MARKING - LINE 4"	FOOT	300.00	\$2.00	\$600.00	\$2.00	\$600.00	\$1.60	\$480.00	\$1.80	\$540.00	\$1.60	\$480.00
56	REBUILD EXISTING HANDHOLE	EACH	1.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$5,500.00	\$5,500.00	\$3,200.00	\$3,200.00	\$2,915.00	\$2,915.00
57	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 4"	SQ YD	289.00	\$50.00	\$14,450.00	\$48.00	\$13,872.00	\$28.75	\$8,308.75	\$75.00	\$21,675.00	\$32.68	\$9,444.52
58	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 6"	SQ YD	1,798.00	\$75.00	\$134,850.00	\$60.00	\$107,880.00	\$27.60	\$49,624.80	\$47.00	\$84,506.00	\$41.47	\$74,563.06
59	CONSTRUCTION LAYOUT	L SUM	1.00	\$30,000.00	\$30,000.00	\$34,000.00	\$34,000.00	\$9,500.00	\$9,500.00	\$20,000.00	\$20,000.00	\$18,000.00	\$18,000.00
60	DRAINAGE & UTILITY STRUCTURES TO BE ADJUSTED	EACH	33.00	\$400.00	\$13,200.00	\$350.00	\$11,550.00	\$663.00	\$21,879.00	\$355.00	\$11,715.00	\$663.00	\$21,879.00
61	DRAINAGE & UTILITY STRUCTURES TO BE RECONSTRUCTED	EACH	16.00	\$1,500.00	\$24,000.00	\$1,200.00	\$19,200.00	\$1,207.00	\$19,312.00	\$2,000.00	\$32,000.00	\$1,207.00	\$19,312.00
63	SAWING P.C. CONCRETE PAVEMENT (FULL DEPTH)	FOOT	3,181.00	\$3.00	\$9,543.00	\$2.00	\$6,362.00	\$2.00	\$6,362.00	\$1.50	\$4,771.50	\$1.50	\$4,771.50
64	TREE, ACER RUBRUM (RED MAPLE), 2-1/2" CALIPER, BALLED AND BURLAPPED	EACH	4.00	\$400.00	\$1,600.00	\$525.00	\$2,100.00	\$475.00	\$1,900.00	\$600.00	\$2,400.00	\$485.78	\$1,943.12
65	TREE, GINKGO BILOBA (GINKGO), 2-1/2" CALIPER, BALLED AND BURLAPPED	EACH	4.00	\$400.00	\$1,600.00	\$525.00	\$2,100.00	\$475.00	\$1,900.00	\$675.00	\$2,700.00	\$501.68	\$2,006.72
66	TREE, GYMNOCLADUS DIOICUS (KENTUCKY COFFEETREE), 3" CALIPER, BALLED AND BURLAPPED	EACH	3.00	\$400.00	\$1,200.00	\$605.00	\$1,815.00	\$550.00	\$1,650.00	\$695.00	\$2,085.00	\$512.50	\$1,537.50
67	TREE, ULMUS JAPONICA X WILSONIANA MORTON (ACCOLADE ELM), 2-1/2" CALIPER, BALLED AND BURI APPED	EACH	4.00	\$400.00	\$1,600.00	\$525.00	\$2,100.00	\$475.00	\$1,900.00	\$670.00	\$2,680.00	\$526.00	\$2,104.00
68	BURLAPPED TREE, MALUS PRAIRIE ROSE (PRAIRIE ROSE CRABAPPLE), 2" CALIPER, TREE FORM, BALLED AND BURL APPED	EACH	3.00	\$400.00	\$1,200.00	\$440.00	\$1,320.00	\$400.00	\$1,200.00	\$625.00	\$1,875.00	\$468.63	\$1,405.89
69	TOPSOIL FURNISH AND PLACE, 4" (SPECIAL)	SQ YD	2,757.00	\$4.00	\$11,028.00	\$2.00	\$5,514.00	\$4.00	\$11,028.00	\$1.00	\$2,757.00	\$3.95	\$10,890.15
70	EXPLORATION TRENCH, SPECIAL	FOOT	400.00	\$35.00	\$14,000.00	\$1.00	\$400.00	\$45.90	\$18,360.00	\$10.00	\$4,000.00	\$45.90	\$18,360.00
71	SODDING, SPECIAL	SQ YD	2,757.00	\$7.00	\$19,299.00	\$5.00	\$13,785.00	\$8.00	\$22,056.00	\$11.00	\$30,327.00	\$12.16	\$33,525.12
72	TEMPORARY ACCESS (DRIVEWAY ENTRANCE)	EACH	54.00	\$150.00	\$8,100.00	\$50.00	\$2,700.00	\$75.00	\$4,050.00	\$1.00	\$54.00	\$171.47	\$9,259.38
73	TEMPORARY ACCESS (ROAD)	EACH	17.00	\$250.00	\$4,250.00	\$150.00	\$2,550.00	\$250.00	\$4,250.00	\$1.00	\$17.00	\$340.48	\$5,788.16
74	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH, SPECIAL	SQ YD	327.00	\$75.00	\$24,525.00	\$59.50	\$19,456.50	\$60.00	\$19,620.00	\$51.00	\$16,677.00	\$40.17	\$13,135.59
75	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH, SPECIAL	SQ YD	464.00	\$80.00	\$37,120.00	\$76.00	\$35,264.00	\$76.00	\$35,264.00	\$60.00	\$27,840.00	\$48.18	\$22,355.52
76	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH, SPECIAL	SQ FT	15,393.00	\$7.00	\$107,751.00	\$6.15	\$94,666.95	\$6.25	\$96,206.25	\$5.75	\$88,509.75	\$5.71	\$87,894.03
77	PORTLAND CEMENT CONCRETE SIDEWALK 8 INCH, SPECIAL	SQ FT	1,972.00	\$10.00	\$19,720.00	\$8.20	\$16,170.40	\$7.50	\$14,790.00	\$6.75	\$13,311.00	\$7.11	\$14,020.92
78	PORTLAND CEMENT CONCRETE SURFACE REMOVAL (VARIABLE DEPTH)	SQ YD	6,620.00	\$7.00	\$46,340.00	\$2.05	\$13,571.00	\$3.75	\$24,825.00	\$3.40	\$22,508.00	\$2.73	\$18,072.60
79	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	SQ YD	2,788.00	\$6.00	\$16,728.00	\$3.15	\$8,782.20	\$3.50	\$9,758.00	\$6.80	\$18,958.40	\$3.71	\$10,343.48
80	AGGREGATE SHOULDERS (SPECIAL)	SQ YD	244.00	\$10.00	\$2,440.00	\$6.00	\$1,464.00	\$16.00	\$3,904.00	\$23.50	\$5,734.00	\$10.43	\$2,544.92
81	VALVE BOXES TO BE ADJUSTED (SPECIAL)	EACH	1.00	\$500.00	\$500.00	\$300.00	\$300.00	\$545.00	\$545.00	\$1,100.00	\$1,100.00	\$545.00	\$545.00
82	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (SPECIAL)	FOOT	56.00	\$30.00	\$1,680.00	\$35.00	\$1,960.00	\$40.00	\$2,240.00	\$50.00	\$2,800.00	\$40.67	\$2,277.52
83	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-9.12 (SPECIAL)	FOOT	62.00	\$35.00	\$2,170.00	\$30.00	\$1,860.00	\$30.00	\$1,860.00	\$40.00	\$2,480.00	\$38.06	\$2,359.72

Bid Tabulation - 2020 Street Improvement Project.xlxx - Base Bid

Page 2 of 9

Last printed 5/6/2020 9:35 AM



| A Lamp Concrete Contractors, Ind Schroeder Asphalt Services, Inc. | G&M Cement Construction | R.W. Dunteman Company | 1900 Wright Boulevard | P.O. Box 831 | 58 W Commercial Ave | 600 S Lombard Rd | Schaumburg, IL 60193 | Huntley, IL | Addison, IL 60101 | Addison, IL 60101 | Phone | (847) 891-6000 | Phone | (815) 923-4380 | Phone | (630) 628-6208 | Phone | (630) 953-1500 | Phone | (630) 953-1

THE GARDEN VE	TOP .					Fax	(847) 891-6100	Fax	N/A	Fax	N/A	Fax	(630) 932-0994
ITEM NO.	DESCRIPTION	UNITS	QUANTITY	UNIT PRICE	TOTAL PRICE								
84	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-4.12 (SPECIAL)	FOOT	860.00	\$22.00	\$18,920.00	\$24.00	\$20,640.00	\$25.00	\$21,500.00	\$20.00	\$17,200.00	\$23.86	\$20,519.60
85	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (SPECIAL)	FOOT	3,916.00	\$23.00	\$90,068.00	\$22.25	\$87,131.00	\$20.50	\$80,278.00	\$20.00	\$78,320.00	\$19.61	\$76,792.76
86	CONCRETE WEDGE	FOOT	743.00	\$3.00	\$2,229.00	\$3.25	\$2,414.75	\$3.00	\$2,229.00	\$3.00	\$2,229.00	\$5.25	\$3,900.75
87	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	L SUM	1.00	\$100,000.00	\$100,000.00	\$80,000.00	\$80,000.00	\$74,640.00	\$74,640.00	\$69,000.00	\$69,000.00	\$172,311.10	\$172,311.10
88	CONNECTION TO EXISTING WATER MAIN (NON PRESSURE)	EACH	3.00	\$4,000.00	\$12,000.00	\$3,000.00	\$9,000.00	\$3,188.00	\$9,564.00	\$6,500.00	\$19,500.00	\$3,188.00	\$9,564.00
89	PRECONSTRUCTION VIDEO TAPING	L SUM	1.00	\$10,000.00	\$10,000.00	\$17,000.00	\$17,000.00	\$2,025.00	\$2,025.00	\$6,000.00	\$6,000.00	\$2,025.00	\$2,025.00
90	SANITARY SEWER REPAIR, REMOVE AND REPLACE, 8-INCH DIAMETER OR LESS	FOOT	48.00	\$150.00	\$7,200.00	\$225.00	\$10,800.00	\$242.80	\$11,654.40	\$165.00	\$7,920.00	\$242.80	\$11,654.40
91	SANITARY SEWER REPAIR, REMOVE AND REPLACE, OVER 8-INCH DIAMETER	FOOT	25.00	\$200.00	\$5,000.00	\$300.00	\$7,500.00	\$114.80	\$2,870.00	\$175.00	\$4,375.00	\$114.50	\$2,862.50
92	SANITARY MANHOLES, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	4.00	\$6,000.00	\$24,000.00	\$6,050.00	\$24,200.00	\$11,055.00	\$44,220.00	\$9,000.00	\$36,000.00	\$11,055.00	\$44,220.00
93	EXISTING PIPE TO BE ADJUSTED	EACH	3.00	\$500.00	\$1,500.00	\$350.00	\$1,050.00	\$860.00	\$2,580.00	\$1,500.00	\$4,500.00	\$860.00	\$2,580.00
94	GEOGRID	SQ YD	2,167.00	\$8.00	\$17,336.00	\$6.00	\$13,002.00	\$6.00	\$13,002.00	\$4.25	\$9,209.75	\$4.75	\$10,293.25
95	REMOVE AND REINSTALL LANDSCAPING ITEM	FOOT	110.00	\$10.00	\$1,100.00	\$90.00	\$9,900.00	\$85.00	\$9,350.00	\$70.00	\$7,700.00	\$52.65	\$5,791.50
96	WATER USAGE DEDUCTION	T GAL	100.00	(\$8.85)	(\$885.00)	(\$8.85)	(\$885.00)	(\$8.85)	(\$885.00)	(\$8.85)	(\$885.00)	(\$8.85)	(\$885.00)
97	WATER USAGE CREDIT	T GAL	100.00	\$8.85	\$885.00	\$8.85	\$885.00	\$8.85	\$885.00	\$8.85	\$885.00	\$8.85	\$885.00
98	CONTINGENCY ALLOWANCE	DOLLAR	30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00
	AS-READ TOTAL	N	<b>/</b> A	\$1,69	99,466.14	\$1,73	34,634.39	\$1,74	43,774.59	\$1,9	28,622.53		
	CALCULATED TOTAL (BASE BID)			\$2,00	69,046.00	\$1,69	99,466.14	\$1,7	34,634.39	\$1,7	43,774.59	\$1,9	28,622.53

Bid Tabulation - 2020 Street Improvement Project.xlsx - Base Bid

Page 3 of 9

Last printed 5/6/2020 9:35 AM



Brothers Asphalt Paving, Inc. Martam Construction, Inc. Landmark Contractors, Inc. Swallow Construction Corporation Alliance Contractors, Inc. 11916 W Main St 315 S Stewart Ave 1200 Gasket Drive 490 Topsoil Dr 1166 Lake Ave Addison, IL 60101 Elgin, IL 60120 Huntley, IL 60142 West Chicago, IL 60185 Woodstock, IL 60098 (630) 512-9900 Phone Phone (630) 458-1762 Phone (847) 608-6800 Phone (847) 669-5474 Phone (815) 338-5900

The GLASON VALAGE				Fax	N/A	Fax	(847) 608-6804	Fax	(847) 669-5529	Fax	(630) 512-9902	Fax	N/A
ITEM NO.	DESCRIPTION	UNITS	QUANTITY	UNIT PRICE	TOTAL PRICE								
1	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	63.00	\$17.85	\$1,124.55	\$26.00	\$1,638.00	\$22.00	\$1,386.00	\$24.00	\$1,512.00	\$22.00	\$1,386.00
2	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	158.00	\$19.95	\$3,152.10	\$33.00	\$5,214.00	\$28.00	\$4,424.00	\$30.00	\$4,740.00	\$28.00	\$4,424.00
3	TEMPORARY FENCE	FOOT	1,600.00	\$3.10	\$4,960.00	\$7.00	\$11,200.00	\$6.00	\$9,600.00	\$3.50	\$5,600.00	\$3.50	\$5,600.00
4	TREE ROOT PRUNING	EACH	41.00	\$105.00	\$4,305.00	\$89.00	\$3,649.00	\$75.00	\$3,075.00	\$85.00	\$3,485.00	\$80.00	\$3,280.00
5	TREE PRUNING (1 TO 10 INCH DIAMETER)	EACH	15.00	\$52.50	\$787.50	\$85.00	\$1,275.00	\$70.00	\$1,050.00	\$70.00	\$1,050.00	\$70.00	\$1,050.00
6	TREE PRUNING (OVER 10 INCH DIAMETER)	EACH	41.00	\$84.00	\$3,444.00	\$100.00	\$4,100.00	\$85.00	\$3,485.00	\$85.00	\$3,485.00	\$85.00	\$3,485.00
7	EARTH EXCAVATION	CU YD	1,479.00	\$29.37	\$43,438.23	\$41.00	\$60,639.00	\$62.90	\$93,029.10	\$60.00	\$88,740.00	\$10.00	\$14,790.00
8	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	2,169.00	\$57.50	\$124,717.50	\$41.00	\$88,929.00	\$62.90	\$136,430.10	\$32.00	\$69,408.00	\$15.00	\$32,535.00
9	TRENCH BACKFILL	CU YD	38.00	\$47.25	\$1,795.50	\$52.00	\$1,976.00	\$140.75	\$5,348.50	\$35.00	\$1,330.00	\$65.00	\$2,470.00
10	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	6,580.00	\$0.61	\$4,013.80	\$2.00	\$13,160.00	\$1.50	\$9,870.00	\$2.25	\$14,805.00	\$3.00	\$19,740.00
11	SUPPLEMENTAL WATERING	UNIT	30.00	\$105.00	\$3,150.00	\$1.00	\$30.00	\$195.00	\$5,850.00	\$100.00	\$3,000.00	\$0.10	\$3.00
12	INLET FILTERS	EACH	36.00	\$157.50	\$5,670.00	\$190.00	\$6,840.00	\$167.00	\$6,012.00	\$165.00	\$5,940.00	\$25.00	\$900.00
13	AGGREGATE SUBGRADE IMPROVEMENT	CU YD	960.00	\$15.75	\$15,120.00	\$42.00	\$40,320.00	\$47.49	\$45,590.40	\$37.00	\$35,520.00	\$30.00	\$28,800.00
14	AGGREGATE SUBGRADE IMPROVEMENT 12"	SQ YD	2,167.00	\$16.00	\$34,672.00	\$14.00	\$30,338.00	\$19.00	\$41,173.00	\$20.00	\$43,340.00	\$21.00	\$45,507.00
15	AGGREGATE BASE COURSE, TYPE B	CU YD	182.00	\$40.00	\$7,280.00	\$46.00	\$8,372.00	\$62.00	\$11,284.00	\$36.50	\$6,643.00	\$65.00	\$11,830.00
16	AGGREGATE BASE COURSE, TYPE B 6"	SQ YD	5,746.00	\$8.66	\$49,760.36	\$8.00	\$45,968.00	\$11.60	\$66,653.60	\$27.50	\$158,015.00	\$10.50	\$60,333.00
17	BITUMINOUS MATERIALS (TACK COAT)	POUND	7,614.00	\$0.20	\$1,522.80	\$0.01	\$76.14	\$0.01	\$76.14	\$2.00	\$15,228.00	\$0.80	\$6,091.20
18	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	TON	394.00	\$120.00	\$47,280.00	\$146.00	\$57,524.00	\$98.00	\$38,612.00	\$120.00	\$47,280.00	\$107.00	\$42,158.00
19	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	SQ YD	346.00	\$8.00	\$2,768.00	\$6.50	\$2,249.00	\$8.10	\$2,802.60	\$7.00	\$2,422.00	\$25.00	\$8,650.00
20	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	795.00	\$77.00	\$61,215.00	\$92.00	\$73,140.00	\$78.50	\$62,407.50	\$81.00	\$64,395.00	\$80.00	\$63,600.00
21	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	TON	1,484.00	\$86.00	\$127,624.00	\$98.00	\$145,432.00	\$83.00	\$123,172.00	\$84.00	\$124,656.00	\$86.00	\$127,624.00
22	PORTLAND CEMENT CONCRETE PAVEMENT 8" (JOINTED)	SQ YD	2,205.00	\$61.95	\$136,599.75	\$76.00	\$167,580.00	\$67.75	\$149,388.75	\$60.00	\$132,300.00	\$92.95	\$204,954.75
23	PROTECTIVE COAT	SQ YD	5,462.00	\$1.05	\$5,735.10	\$1.00	\$5,462.00	\$1.60	\$8,739.20	\$0.55	\$3,004.10	\$0.01	\$54.62
24	DETECTABLE WARNINGS	SQ FT	679.00	\$26.25	\$17,823.75	\$26.00	\$17,654.00	\$22.00	\$14,938.00	\$31.25	\$21,218.75	\$32.00	\$21,728.00
25	PAVEMENT REMOVAL	SQ YD	5,095.00	\$15.75	\$80,246.25	\$16.00	\$81,520.00	\$9.80	\$49,931.00	\$41.75	\$212,716.25	\$47.50	\$242,012.50
26	DRIVEWAY PAVEMENT REMOVAL	SQ YD	1,595.00	\$15.75	\$25,121.25	\$14.00	\$22,330.00	\$22.75	\$36,286.25	\$4.00	\$6,380.00	\$47.50	\$75,762.50
27	COMBINATION CURB AND GUTTER REMOVAL	FOOT	2,640.00	\$4.73	\$12,487.20	\$9.00	\$23,760.00	\$12.75	\$33,660.00	\$6.00	\$15,840.00	\$25.00	\$66,000.00
28	SIDEWALK REMOVAL	SQ FT	16,162.00	\$1.37	\$22,141.94	\$1.20	\$19,394.40	\$2.00	\$32,324.00	\$1.05	\$16,970.10	\$5.35	\$86,466.70
29	CLASS C PATCHES, 6 INCH	SQ YD	1,569.00	\$52.50	\$82,372.50	\$78.00	\$122,382.00	\$96.00	\$150,624.00	\$70.00	\$109,830.00	\$75.00	\$117,675.00
30	CLASS D PATCHES, 6 INCH	SQ YD	36.00	\$100.00	\$3,600.00	\$166.00	\$5,976.00	\$55.00	\$1,980.00	\$166.00	\$5,976.00	\$155.00	\$5,580.00
31	STORM SEWERS, CLASS A, 12"	FOOT	30.00	\$47.25	\$1,417.50	\$96.00	\$2,880.00	\$43.25	\$1,297.50	\$71.00	\$2,130.00	\$140.00	\$4,200.00
32	STORM SEWERS, RUBBER GASKET, CLASS A, 12"	FOOT	91.00	\$89.25	\$8,121.75	\$98.00	\$8,918.00	\$129.25	\$11,761.75	\$70.00	\$6,370.00	\$140.00	\$12,740.00
33	STORM SEWERS, CLASS B, 8"	FOOT	16.00	\$99.75	\$1,596.00	\$66.00	\$1,056.00	\$91.25	\$1,460.00	\$70.00	\$1,120.00	\$134.00	\$2,144.00
34	WATER VALVES 6"	EACH	1.00	\$1,575.00	\$1,575.00	\$1,980.00	\$1,980.00	\$4,943.35	\$4,943.35	\$4,500.00	\$4,500.00	\$925.00	\$925.00
35	FIRE HYDRANTS TO BE REMOVED	EACH	2.00	\$210.00	\$420.00	\$880.00	\$1,760.00	\$2,796.00	\$5,592.00	\$1,500.00	\$3,000.00	\$500.00	\$1,000.00
36	FIRE HYDRANT WITH AUXILIARY VALVE AND VALVE BOX	EACH	2.00	\$7,875.00	\$15,750.00	\$7,460.00	\$14,920.00	\$8,497.00	\$16,994.00	\$7,500.00	\$15,000.00	\$13,000.00	\$26,000.00
37	CATCH BASINS, TYPE A, 4'-DIAMETER	EACH	7.00	\$5,040.00	\$35,280.00	\$3,610.00	\$25,270.00	\$4,563.00	\$31,941.00	\$4,000.00	\$28,000.00	\$3,135.00	\$21,945.00
38	CATCH BASINS, TYPE C	EACH	6.00	\$2,940.00	\$17,640.00	\$1,980.00	\$11,880.00	\$1,820.00	\$10,920.00	\$3,300.00	\$19,800.00	\$2,100.00	\$12,600.00
39	MANHOLES, TYPE A, 4'-DIAMETER	EACH	2.00	\$8,925.00	\$17,850.00	\$3,960.00	\$7,920.00	\$9,448.00	\$18,896.00	\$6,500.00	\$13,000.00	\$2,880.00	\$5,760.00
40	INLETS, TYPE A	EACH	4.00	\$2,100.00	\$8,400.00	\$1,890.00	\$7,560.00	\$1,574.00	\$6,296.00	\$1,525.00	\$6,100.00	\$2,100.00	\$8,400.00
41	VALVE VAULTS, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	1.00	\$5,250.00	\$5,250.00	\$5,620.00	\$5,620.00	\$2,698.00	\$2,698.00	\$1,605.00	\$1,605.00	\$3,500.00	\$3,500.00



Brothers Asphalt Paving, Inc. Martam Construction, Inc. Landmark Contractors, Inc. Swallow Construction Corporation Alliance Contractors, Inc. 1200 Gasket Drive 11916 W Main St 315 S Stewart Ave 490 Topsoil Dr 1166 Lake Ave Addison, IL 60101 Elgin, IL 60120 Huntley, IL 60142 West Chicago, IL 60185 Woodstock, IL 60098 (630) 512-9900 Phone Phone (630) 458-1762 Phone (847) 608-6800 Phone (847) 669-5474 Phone (815) 338-5900

THE GARDEN VE	The GARDON VELECIE			Fax	N/A	Fax	(847) 608-6804	Fax	(847) 669-5529	Fax	(630) 512-9902	Fax	N/A
ITEM NO.	DESCRIPTION	UNITS	QUANTITY	UNIT PRICE	TOTAL PRICE								
43	FRAMES AND GRATES, TYPE 11	EACH	26.00	\$630.00	\$16,380.00	\$450.00	\$11,700.00	\$475.00	\$12,350.00	\$480.00	\$12,480.00	\$450.00	\$11,700.00
44	FRAMES AND LIDS, TYPE 1	EACH	11.00	\$630.00	\$6,930.00	\$400.00	\$4,400.00	\$297.00	\$3,267.00	\$365.00	\$4,015.00	\$300.00	\$3,300.00
45	NON-SPECIAL WASTE DISPOSAL	CU YD	510.00	\$50.00	\$25,500.00	\$88.00	\$44,880.00	\$85.00	\$43,350.00	\$10.00	\$5,100.00	\$135.00	\$68,850.00
46	SIGN PANEL - TYPE 1	SQ FT	36.00	\$25.20	\$907.20	\$29.00	\$1,044.00	\$25.00	\$900.00	\$18.00	\$648.00	\$25.00	\$900.00
47	REMOVE SIGN PANEL ASSEMBLY - TYPE A	EACH	5.00	\$5.25	\$26.25	\$155.00	\$775.00	\$75.00	\$375.00	\$60.00	\$300.00	\$75.00	\$375.00
48	RELOCATE SIGN PANEL ASSEMBLY - TYPE A	EACH	2.00	\$2.10	\$4.20	\$300.00	\$600.00	\$250.00	\$500.00	\$60.00	\$120.00	\$250.00	\$500.00
49	TELESCOPING STEEL SIGN SUPPORT	FOOT	192.00	\$201.60	\$38,707.20	\$13.50	\$2,592.00	\$15.00	\$2,880.00	\$20.00	\$3,840.00	\$15.00	\$2,880.00
50	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	156.00	\$5.25	\$819.00	\$6.00	\$936.00	\$4.45	\$694.20	\$4.50	\$702.00	\$5.00	\$780.00
51	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	FOOT	4,855.00	\$0.86	\$4,175.30	\$1.00	\$4,855.00	\$0.98	\$4,757.90	\$1.35	\$6,554.25	\$0.82	\$3,981.10
52	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	FOOT	30.00	\$1.58	\$47.40	\$1.80	\$54.00	\$1.45	\$43.50	\$2.00	\$60.00	\$1.50	\$45.00
53	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	FOOT	204.00	\$2.63	\$536.52	\$3.00	\$612.00	\$2.90	\$591.60	\$4.00	\$816.00	\$2.50	\$510.00
54	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	FOOT	290.00	\$5.25	\$1,522.50	\$6.00	\$1,740.00	\$4.45	\$1,290.50	\$8.00	\$2,320.00	\$5.00	\$1,450.00
55	PAINT PAVEMENT MARKING - LINE 4"	FOOT	300.00	\$1.68	\$504.00	\$1.90	\$570.00	\$1.80	\$540.00	\$1.50	\$450.00	\$1.60	\$480.00
56	REBUILD EXISTING HANDHOLE	EACH	1.00	\$5,236.35	\$5,236.35	\$3,550.00	\$3,550.00	\$2,915.00	\$2,915.00	\$2,925.00	\$2,925.00	\$2,915.00	\$2,915.00
57	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 4"	SQ YD	289.00	\$60.00	\$17,340.00	\$64.00	\$18,496.00	\$43.00	\$12,427.00	\$61.25	\$17,701.25	\$73.50	\$21,241.50
58	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 6"	SQ YD	1,798.00	\$80.00	\$143,840.00	\$70.00	\$125,860.00	\$45.00	\$80,910.00	\$78.00	\$140,244.00	\$89.50	\$160,921.00
59	CONSTRUCTION LAYOUT	L SUM	1.00	\$15,645.00	\$15,645.00	\$16,200.00	\$16,200.00	\$14,900.00	\$14,900.00	\$40,000.00	\$40,000.00	\$12,600.00	\$12,600.00
60	DRAINAGE & UTILITY STRUCTURES TO BE ADJUSTED	EACH	33.00	\$840.00	\$27,720.00	\$510.00	\$16,830.00	\$663.00	\$21,879.00	\$650.00	\$21,450.00	\$250.00	\$8,250.00
61	DRAINAGE & UTILITY STRUCTURES TO BE RECONSTRUCTED	EACH	16.00	\$2,100.00	\$33,600.00	\$1,460.00	\$23,360.00	\$1,207.00	\$19,312.00	\$1,150.00	\$18,400.00	\$1,590.00	\$25,440.00
63	SAWING P.C. CONCRETE PAVEMENT (FULL DEPTH)	FOOT	3,181.00	\$2.10	\$6,680.10	\$3.00	\$9,543.00	\$3.00	\$9,543.00	\$5.25	\$16,700.25	\$4.00	\$12,724.00
64	TREE, ACER RUBRUM (RED MAPLE), 2-1/2" CALIPER, BALLED AND BURLAPPED	EACH	4.00	\$498.75	\$1,995.00	\$625.00	\$2,500.00	\$495.00	\$1,980.00	\$400.00	\$1,600.00	\$675.00	\$2,700.00
65	TREE, GINKGO BILOBA (GINKGO), 2-1/2" CALIPER, BALLED AND BURLAPPED	EACH	4.00	\$498.75	\$1,995.00	\$660.00	\$2,640.00	\$550.00	\$2,200.00	\$550.00	\$2,200.00	\$850.00	\$3,400.00
66	TREE, GYMNOCLADUS DIOICUS (KENTUCKY COFFEETREE), 3" CALIPER, BALLED AND BURLAPPED	EACH	3.00	\$577.50	\$1,732.50	\$720.00	\$2,160.00	\$575.00	\$1,725.00	\$400.00	\$1,200.00	\$750.00	\$2,250.00
67	TREE, ULMUS JAPONICA X WILSONIANA MORTON (ACCOLADE ELM), 2-1/2" CALIPER, BALLED AND BURLAPPED	EACH	4.00	\$498.75	\$1,995.00	\$550.00	\$2,200.00	\$490.00	\$1,960.00	\$400.00	\$1,600.00	\$550.00	\$2,200.00
68	TREE, MALUS PRAIRIE ROSE (PRAIRIE ROSE CRABAPPLE), 2" CALIPER, TREE FORM, BALLED AND BURLAPPED	EACH	3.00	\$420.00	\$1,260.00	\$505.00	\$1,515.00	\$425.00	\$1,275.00	\$375.00	\$1,125.00	\$400.00	\$1,200.00
69	TOPSOIL FURNISH AND PLACE, 4" (SPECIAL)	SQ YD	2,757.00	\$4.20	\$11,579.40	\$5.00	\$13,785.00	\$15.25	\$42,044.25	\$4.50	\$12,406.50	\$0.10	\$275.70
70	EXPLORATION TRENCH, SPECIAL	FOOT	400.00	\$31.50	\$12,600.00	\$33.00	\$13,200.00	\$45.00	\$18,000.00	\$0.01	\$4.00	\$5.00	\$2,000.00
71	SODDING, SPECIAL	SQ YD	2,757.00	\$8.40	\$23,158.80	\$9.75	\$26,880.75	\$11.50	\$31,705.50	\$4.50	\$12,406.50	\$24.00	\$66,168.00
72	TEMPORARY ACCESS (DRIVEWAY ENTRANCE)	EACH	54.00	\$80.00	\$4,320.00	\$310.00	\$16,740.00	\$188.00	\$10,152.00	\$200.00	\$10,800.00	\$150.00	\$8,100.00
73	TEMPORARY ACCESS (ROAD)	EACH	17.00	\$120.00	\$2,040.00	\$870.00	\$14,790.00	\$375.00	\$6,375.00	\$250.00	\$4,250.00	\$250.00	\$4,250.00
74	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH, SPECIAL	SQ YD	327.00	\$63.00	\$20,601.00	\$64.00	\$20,928.00	\$78.00	\$25,506.00	\$51.17	\$16,732.59	\$80.00	\$26,160.00
75	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH, SPECIAL	SQ YD	464.00	\$79.80	\$37,027.20	\$73.00	\$33,872.00	\$88.00	\$40,832.00	\$53.00	\$24,592.00	\$87.75	\$40,716.00
76	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH, SPECIAL	SQ FT	15,393.00	\$6.56	\$100,978.08	\$6.00	\$92,358.00	\$8.30	\$127,761.90	\$7.00	\$107,751.00	\$8.05	\$123,913.65
77	PORTLAND CEMENT CONCRETE SIDEWALK 8 INCH, SPECIAL	SQ FT	1,972.00	\$7.88	\$15,539.36	\$7.50	\$14,790.00	\$9.90	\$19,522.80	\$8.50	\$16,762.00	\$9.35	\$18,438.20
78	PORTLAND CEMENT CONCRETE SURFACE REMOVAL (VARIABLE DEPTH)	SQ YD	6,620.00	\$6.00	\$39,720.00	\$4.00	\$26,480.00	\$4.25	\$28,135.00	\$5.50	\$36,410.00	\$2.80	\$18,536.00
79	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	SQ YD	2,788.00	\$4.50	\$12,546.00	\$8.00	\$22,304.00	\$4.00	\$11,152.00	\$6.00	\$16,728.00	\$5.80	\$16,170.40
80	AGGREGATE SHOULDERS (SPECIAL)	SQ YD	244.00	\$16.00	\$3,904.00	\$28.00	\$6,832.00	\$30.00	\$7,320.00	\$15.00	\$3,660.00	\$35.00	\$8,540.00
81	VALVE BOXES TO BE ADJUSTED (SPECIAL)	EACH	1.00	\$2,100.00	\$2,100.00	\$360.00	\$360.00	\$545.00	\$545.00	\$200.00	\$200.00	\$175.00	\$175.00
82	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (SPECIAL)	FOOT	56.00	\$42.00	\$2,352.00	\$44.00	\$2,464.00	\$44.00	\$2,464.00	\$48.00	\$2,688.00	\$40.15	\$2,248.40
83	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-9.12 (SPECIAL)	FOOT	62.00	\$31.50	\$1,953.00	\$44.00	\$2,728.00	\$41.00	\$2,542.00	\$45.50	\$2,821.00	\$36.55	\$2,266.10



Brothers Asphalt	Paving, Inc.	Martam Construc	tion, Inc.	Landmark Contra	ctors, Inc.	Swallow Construc	ction Corporation	Alliance Contractors, Inc.		
315 S Stewart Ave		1200 Gasket Drive		11916 W Main St	:	490 Topsoil Dr		1166 Lake Ave		
Addison, IL 60101		Elgin, IL 60120		Huntley, IL 60142	!	West Chicago, IL	60185	Woodstock, IL 60098		
Phone	(630) 458-1762	Phone	(847) 608-6800	Phone	(847) 669-5474	Phone	(630) 512-9900	Phone	(815) 338-5900	
Fax	N/A	Fax	(847) 608-6804	Fax	(847) 669-5529	Fax	(630) 512-9902	Fax	N/A	

GARDEN VEL	I. C.			Fax	N/A	Fax	(847) 608-6804	Fax	(847) 669-5529	Fax	(630) 512-9902	Fax	N/A
ITEM NO.	DESCRIPTION	UNITS	QUANTITY	UNIT PRICE	TOTAL PRICE								
84	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-4.12 (SPECIAL)	FOOT	860.00	\$26.25	\$22,575.00	\$28.00	\$24,080.00	\$31.00	\$26,660.00	\$30.00	\$25,800.00	\$35.95	\$30,917.00
85	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (SPECIAL)	FOOT	3,916.00	\$21.53	\$84,311.48	\$28.00	\$109,648.00	\$34.00	\$133,144.00	\$23.25	\$91,047.00	\$32.35	\$126,682.60
86	CONCRETE WEDGE	FOOT	743.00	\$3.15	\$2,340.45	\$11.00	\$8,173.00	\$3.25	\$2,414.75	\$12.50	\$9,287.50	\$7.50	\$5,572.50
87	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	L SUM	1.00	\$38,245.00	\$38,245.00	\$180,000.00	\$180,000.00	\$65,000.00	\$65,000.00	\$114,000.00	\$114,000.00	\$31,250.00	\$31,250.00
88	CONNECTION TO EXISTING WATER MAIN (NON PRESSURE)	EACH	3.00	\$4,725.00	\$14,175.00	\$3,660.00	\$10,980.00	\$3,188.00	\$9,564.00	\$5,500.00	\$16,500.00	\$750.00	\$2,250.00
89	PRECONSTRUCTION VIDEO TAPING	L SUM	1.00	\$2,126.25	\$2,126.25	\$4,500.00	\$4,500.00	\$2,025.00	\$2,025.00	\$22,900.00	\$22,900.00	\$500.00	\$500.00
90	SANITARY SEWER REPAIR, REMOVE AND REPLACE, 8-INCH DIAMETER OR LESS	FOOT	48.00	\$89.25	\$4,284.00	\$186.00	\$8,928.00	\$242.80	\$11,654.40	\$165.00	\$7,920.00	\$425.00	\$20,400.00
91	SANITARY SEWER REPAIR, REMOVE AND REPLACE, OVER 8-INCH DIAMETER	FOOT	25.00	\$210.00	\$5,250.00	\$388.00	\$9,700.00	\$114.50	\$2,862.50	\$300.00	\$7,500.00	\$425.00	\$10,625.00
92	SANITARY MANHOLES, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	4.00	\$11,550.00	\$46,200.00	\$6,860.00	\$27,440.00	\$11,055.00	\$44,220.00	\$6,500.00	\$26,000.00	\$9,285.00	\$37,140.00
93	EXISTING PIPE TO BE ADJUSTED	EACH	3.00	\$420.00	\$1,260.00	\$880.00	\$2,640.00	\$860.00	\$2,580.00	\$600.00	\$1,800.00	\$500.00	\$1,500.00
94	GEOGRID	SQ YD	2,167.00	\$5.21	\$11,290.07	\$6.00	\$13,002.00	\$8.70	\$18,852.90	\$8.00	\$17,336.00	\$5.50	\$11,918.50
95	REMOVE AND REINSTALL LANDSCAPING ITEM	FOOT	110.00	\$89.25	\$9,817.50	\$25.00	\$2,750.00	\$69.00	\$7,590.00	\$27.50	\$3,025.00	\$100.00	\$11,000.00
96	WATER USAGE DEDUCTION	T GAL	100.00	(\$8.85)	(\$885.00)	(\$8.85)	(\$885.00)	(\$8.85)	(\$885.00)	(\$8.85)	(\$885.00)	(\$8.85)	(\$885.00)
97	WATER USAGE CREDIT	T GAL	100.00	\$8.85	\$885.00	\$8.85	\$885.00	\$8.85	\$885.00	\$8.85	\$885.00	\$8.85	\$885.00
98	CONTINGENCY ALLOWANCE	DOLLAR	30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00
	AS-READ TOTAL	\$1,96	64,620.44	\$2,1	97,856.29	\$2,2	35,192.44	\$2,20	69,332.04	\$2,41	13,009.92		
	CALCULATED TOTAL (BASE BID)			\$1,96	64,620.44	\$2,1	97,856.29	\$2,2	35,192.44	\$2,20	69,332.04	\$2,41	13,009.92

Bid Tabulation - 2020 Street Improvement Project.xlsx - Base Bid

Last printed 5/6/2020 9:35 AM



Average Bid

ITEM NO.	DESCRIPTION	UNITS	QUANTITY	UNIT PRICE	TOTAL PRICE
1	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	63.00	\$21.28	\$1,340.64
2	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	158.00	\$26.09	\$4,122.22
3	TEMPORARY FENCE	FOOT	1,600.00	\$3.95	\$6,320.00
4	TREE ROOT PRUNING	EACH	41.00	\$77.67	\$3,184.47
5	TREE PRUNING (1 TO 10 INCH DIAMETER)	EACH	15.00	\$65.83	\$987.45
6	TREE PRUNING (OVER 10 INCH DIAMETER)	EACH	41.00	\$86.89	\$3,562.49
7	EARTH EXCAVATION	CU YD	1,479.00	\$39.97	\$59,115.63
8	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	2,169.00	\$36.55	\$79,276.95
9	TRENCH BACKFILL	CU YD	38.00	\$80.72	\$3,067.36
10	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	6,580.00	\$1.53	\$10,067.40
11	SUPPLEMENTAL WATERING	UNIT	30.00	\$55.79	\$1,673.70
12	INLET FILTERS	EACH	36.00	\$119.39	\$4,298.04
13	AGGREGATE SUBGRADE IMPROVEMENT	CU YD	960.00	\$34.34	\$32,966.40
14	AGGREGATE SUBGRADE IMPROVEMENT 12"	SQ YD	2,167.00	\$15.46	\$33,501.82
15	AGGREGATE BASE COURSE, TYPE B	CU YD	182.00	\$45.78	\$8,331.96
16	AGGREGATE BASE COURSE, TYPE B 6"	SQ YD	5,746.00	\$10.75	\$61,769.50
17	BITUMINOUS MATERIALS (TACK COAT)	POUND	7,614.00	\$0.41	\$3,121.74
18	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	TON	394.00	\$112.24	\$44,222.56
19	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	SQ YD	346.00	\$10.12	\$3,501.52
20	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	795.00	\$79.73	\$63,385.35
21	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	TON	1,484.00	\$84.25	\$125,027.00
22	PORTLAND CEMENT CONCRETE PAVEMENT 8" (JOINTED)	SQ YD	2,205.00	\$66.39	\$146,389.95
23	PROTECTIVE COAT	SQ YD	5,462.00	\$0.69	\$3,768.78
24	DETECTABLE WARNINGS	SQ FT	679.00	\$26.33	\$17,878.07
25	PAVEMENT REMOVAL	SQ YD	5,095.00	\$20.40	\$103,938.00
26	DRIVEWAY PAVEMENT REMOVAL	SQ YD	1,595.00	\$17.18	\$27,402.10
27	COMBINATION CURB AND GUTTER REMOVAL	FOOT	2,640.00	\$8.56	\$22,598.40
28	SIDEWALK REMOVAL	SQ FT	16,162.00	\$1.81	\$29,253.22
29	CLASS C PATCHES, 6 INCH	SQ YD	1,569.00	\$65.29	\$102,440.01
30	CLASS D PATCHES, 6 INCH	SQ YD	36.00	\$126.53	\$4,555.08
31	STORM SEWERS, CLASS A, 12"	FOOT	30.00	\$81.00	\$2,430.00
32	STORM SEWERS, RUBBER GASKET, CLASS A, 12"	FOOT	91.00	\$115.00	\$10,465.00
33	STORM SEWERS, CLASS B, 8"	FOOT	16.00	\$93.83	\$1,501.28
34	WATER VALVES 6"	EACH	1.00	\$3,534.45	\$3,534.45
35	FIRE HYDRANTS TO BE REMOVED	EACH	2.00	\$1,414.22	\$2,828.44
36	FIRE HYDRANT WITH AUXILIARY VALVE AND VALVE BOX	EACH	2.00	\$8,591.78	\$17,183.56
37	CATCH BASINS, TYPE A, 4'-DIAMETER	EACH	7.00	\$4,686.00	\$32,802.00
38	CATCH BASINS, TYPE C	EACH	6.00	\$2,242.22	\$13,453.32
39	MANHOLES, TYPE A, 4'-DIAMETER	EACH	2.00	\$7,012.11	\$14,024.22
40	INLETS, TYPE A	EACH	4.00	\$1,793.00	\$7,172.00
41	VALVE VAULTS, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	1.00	\$3,507.67	\$3,507.67



Average Bid

ITEM NO.	DESCRIPTION	UNITS	QUANTITY	UNIT PRICE	TOTAL PRICE
43	FRAMES AND GRATES, TYPE 11	EACH	26.00	\$489.44	\$12,725.44
44	FRAMES AND LIDS, TYPE 1	EACH	11.00	\$365.11	\$4,016.21
45	NON-SPECIAL WASTE DISPOSAL	CU YD	510.00	\$73.49	\$37,479.90
46	SIGN PANEL - TYPE 1	SQ FT	36.00	\$22.91	\$824.76
47	REMOVE SIGN PANEL ASSEMBLY - TYPE A	EACH	5.00	\$71.69	\$358.45
48	RELOCATE SIGN PANEL ASSEMBLY - TYPE A	EACH	2.00	\$208.01	\$416.02
49	TELESCOPING STEEL SIGN SUPPORT	FOOT	192.00	\$35.73	\$6,860.16
50	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	156.00	\$4.95	\$772.20
51	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	FOOT	4,855.00	\$0.97	\$4,709.35
52	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	FOOT	30.00	\$1.60	\$48.00
53	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	FOOT	204.00	\$2.90	\$591.60
54	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	FOOT	290.00	\$5.34	\$1,548.60
55	PAINT PAVEMENT MARKING - LINE 4"	FOOT	300.00	\$1.72	\$516.00
56	REBUILD EXISTING HANDHOLE	EACH	1.00	\$3,628.48	\$3,628.48
57	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 4"	SQ YD	289.00	\$54.02	\$15,611.78
58	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 6"	SQ YD	1,798.00	\$59.84	\$107,592.32
59	CONSTRUCTION LAYOUT	L SUM	1.00	\$20,093.89	\$20,093.89
60	DRAINAGE & UTILITY STRUCTURES TO BE ADJUSTED	EACH	33.00	\$549.33	\$18,127.89
61	DRAINAGE & UTILITY STRUCTURES TO BE RECONSTRUCTED	EACH	16.00	\$1,457.89	\$23,326.24
63	SAWING P.C. CONCRETE PAVEMENT (FULL DEPTH)	FOOT	3,181.00	\$2.71	\$8,620.51
64	TREE, ACER RUBRUM (RED MAPLE), 2-1/2" CALIPER, BALLED AND BURLAPPED	EACH	4.00	\$531.06	\$2,124.24
65	TREE, GINKGO BILOBA (GINKGO), 2-1/2" CALIPER, BALLED AND BURLAPPED	EACH	4.00	\$587.27	\$2,349.08
66	TREE, GYMNOCLADUS DIOICUS (KENTUCKY COFFEETREE), 3" CALIPER, BALLED AND BURLAPPED	EACH	3.00	\$598.33	\$1,794.99
67	TREE, ULMUS JAPONICA X WILSONIANA MORTON (ACCOLADE ELM), 2-1/2" CALIPER, BALLED AND BURLAPPED	EACH	4.00	\$520.53	\$2,082.12
68	TREE, MALUS PRAIRIE ROSE (PRAIRIE ROSE CRABAPPLE), 2" CALIPER, TREE FORM, BALLED AND BURLAPPED	EACH	3.00	\$450.96	\$1,352.88
69	TOPSOIL FURNISH AND PLACE, 4" (SPECIAL)	SQ YD	2,757.00	\$4.44	\$12,241.08
70	EXPLORATION TRENCH, SPECIAL	FOOT	400.00	\$24.15	\$9,660.00
71	SODDING, SPECIAL	SQ YD	2,757.00	\$10.48	\$28,893.36
72	TEMPORARY ACCESS (DRIVEWAY ENTRANCE)	EACH	54.00	\$136.16	\$7,352.64
73	TEMPORARY ACCESS (ROAD)	EACH	17.00	\$289.61	\$4,923.37
74	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH, SPECIAL	SQ YD	327.00	\$60.76	\$19,868.52
75	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH, SPECIAL	SQ YD	464.00	\$71.30	\$33,083.20
76	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH, SPECIAL	SQ FT	15,393.00	\$6.64	\$102,209.52
77	PORTLAND CEMENT CONCRETE SIDEWALK 8 INCH, SPECIAL	SQ FT	1,972.00	\$8.08	\$15,933.76
78	PORTLAND CEMENT CONCRETE SURFACE REMOVAL (VARIABLE DEPTH)	SQ YD	6,620.00	\$3.83	\$25,354.60
79	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	SQ YD	2,788.00	\$5.05	\$14,079.40
80	AGGREGATE SHOULDERS (SPECIAL)	SQ YD	244.00	\$19.99	\$4,877.56
81	VALVE BOXES TO BE ADJUSTED (SPECIAL)	EACH	1.00	\$652.22	\$652.22
82	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (SPECIAL)	FOOT	56.00	\$42.65	\$2,388.40
83	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-9.12 (SPECIAL)	FOOT	62.00	\$37.40	\$2,318.80



Average Bid

ITEM NO.	DESCRIPTION	UNITS	QUANTITY	UNIT PRICE	TOTAL PRICE
84	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-4.12 (SPECIAL)	FOOT	860.00	\$27.12	\$23,323.20
85	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (SPECIAL)	FOOT	3,916.00	\$24.61	\$96,372.76
86	CONCRETE WEDGE	FOOT	743.00	\$5.77	\$4,287.11
87	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	L SUM	1.00	\$91,605.12	\$91,605.12
88	CONNECTION TO EXISTING WATER MAIN (NON PRESSURE)	EACH	3.00	\$3,744.33	\$11,232.99
89	PRECONSTRUCTION VIDEO TAPING	L SUM	1.00	\$6,566.81	\$6,566.81
90	SANITARY SEWER REPAIR, REMOVE AND REPLACE, 8-INCH DIAMETER OR LESS	FOOT	48.00	\$220.41	\$10,579.68
91	SANITARY SEWER REPAIR, REMOVE AND REPLACE, OVER 8-INCH DIAMETER	FOOT	25.00	\$237.98	\$5,949.50
92	SANITARY MANHOLES, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	4.00	\$9,156.67	\$36,626.68
93	EXISTING PIPE TO BE ADJUSTED	EACH	3.00	\$758.89	\$2,276.67
94	GEOGRID	SQ YD	2,167.00	\$6.05	\$13,110.35
95	REMOVE AND REINSTALL LANDSCAPING ITEM	FOOT	110.00	\$67.60	\$7,436.00
96	WATER USAGE DEDUCTION	T GAL	100.00	(\$8.85)	(\$885.00)
97	WATER USAGE CREDIT	T GAL	100.00	\$8.85	\$885.00
98	CONTINGENCY ALLOWANCE	DOLLAR	30,000.00	\$1.00	\$30,000.00
	AS-READ TOTAL		N	Ά	
	CALCULATED TOTAL (BASE BID)		\$2,020,744.16		